ENT - 11

Seat Total No. of Pages : 20
No.

P.G. Entrance Examination, June- 2022
M.Sc. FOOD SCIENCEAND TECHNOLOGY
Sub. Code: 58724

Day and Date: Sunday, 12 - 06 - 2022 Total Marks: 100
Time: 01.00 p.m. t0 02.30 p.m.

Instructions: 1)  All questionsarecompulsory.
2) Eachquestioncarrieslmark.

3) Answers should be marked in the given OMR answer sheet by
darkeningtheappropriateoption.

4)  Followtheinstructionsgiven on OMR shest.

5)  Rough work shall bedoneon the sheet provided at theend of question
paper.

1) Oxidative rancidity is promoted by .
(A) Heat
(B) Cataysis.
(C) Enzymes
(D) All theabove

2) __isMicrominera
(A) Cacium
(B) Magnesum
(C) lodine
(D) Phosphorous

3) Yelow colour in Turmeric is caused due to the presence of
(A) Boron
(B) Curcumin
(C) Iron
(D) Comoplastid
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5)
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7)

8)
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Smell isrelated with Phenomenon

(A) olfaction
(B) astringency
(C) texture
(D) consistency

Excessintakeof the  do not creates toxicity
(A) water solublevitamins

(B) fatsolublevitamins

(C) both (A) & (b)

(D) all of theabove

____ dffectthe behavior of proteininfood system during storage processing
preparation and consumption

(A) functional properties
(B) nonfunctional

(C) dynamic properties
(D) all of theabove

_______proteinsare derived from protein denaturation and coagul ation
(A) Smple

(B) Derived

(C) Conjugated

(D) None of the above

Lactose is composed of glucose &
(A) sucrose

(B) fructose

(C) gdactose

(D) starch
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9) Isthe simplest form of carbohydrates and cannot be hydrolysed further

(A) Polysaccharide
(B) Disaccharide

(C) Oligosaccharide
(D) Monosaccharide

10) water is water that is attached to the surface of molecules like
polysaccharides and proteins.

(A) Absorbed
(B) Adsorbed
(C) Freezed

(D) Vapourized

11) _ isMacro mineral
(A) lodine
(B) Manganese
(C) Cobalt
(D) Cdcium

12)  issynthesized in our body
(A) Ergocdciferol
(B) Cholecdciferal
(C) VitaminE
(D) VitaminC

13) Cryogenicliquidsusedinthe  method of food preservation.
(A) Sterilization
(B) Canning
(C) Freezing
(D) Drying
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14) The solubility of proteinisrelated to the :

(A) pH
(B) TSS
(C) Brix
(D) None of the above

15) _ actsasbuilding block of the body.
(A) Protein
(B) Carbohydrates
(C) Vitamins
(D) Fat

16) _ structure of proteins involves only peptide bonds
(A) Secondary
(B) Primary
(C) Tertiary
(D) Quaternary

17) __ isexample of transport protein.
(A) Muscles
(B) Collagen
(C) Haemoglobin
(D) All of the above

18)  do not exhibit mutarotation.
(A) Glucose
(B) Fructose
(C) Sucrose
(D) All of theabove
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19)  isdifficult to remove during drying
(A) Chemically bound water
(B) Freewater
(C) Both(A) & (B)
(D) None of the above

20) _ istheamount of accesible water present in food material.
(A) Moisturecontent
(B) Water activity
(C) Chemically bound water
(D) All of the above

21) The pH meter measures
(A) acid concentration
(B) lightrefraction
(C) viscosity
(D) color of reflected light

22) Glutenformationisdesiredin
(A) Biscuit making
(B) Cakemaking
(C) Breadmaking
(D) None of these

23) _ procedure used for removing bacteria from milk.
(A) Filtration
(B) Bactofugation
(C) Homogenization
(D) Pasteurization
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24) What isWVTR?
(A) Water to vapour transient rate
(B) Water to vapour transfer rate
(C) Water vapour transfer rate
(D) Water to vapour total ratio

25) Cross-contamination of food is a common factor in the cause of food borne
diseases which can occur by

(A) Food to Food

(B) People to Food

(C) Environment to Food
(D) All of the above

26) Asgpsismeans
(A) Keeping out micro-organisms
(B) Keepingoutair
(C) Keeping out food
(D) Keepingout water

27) __ acidisproduced in Sauerkraut which helps preserve it.
(A) Tartaric
(B) Madec
(C) Acstic
(D) Lactic

28) Inatypical bacterial growth curve, resting phaseisalsocalledas  phase.
(A) Surviva
(B) Log
(C) Stationary
(D) Desgth
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29) Yeasts best grow at the pH range of :

(A) 2.0-25
(B) 3.0-35
(C) 4.0-45
(D) 5.0-55

30) Degradation of protein resultsin foul smell conditiontermedas
(A) Purifaction
(B) Pepticaction
(C) Putrifaction
(D) Pectiaction

31)  yeastisusedin making beer.
(A) Bottom
(B) Top
(C) Submerged
(D) None of the above

32) Coffeeisa__ and roasted product of Coffee beans.
(A) Sterilized
(B) Fermented
(C) Pasteurized
(D) Freezed

33) Salt and Sugar preserves food becausethey .
(A) Makethefood acidic
(B) Produce high osmotic pressure
(C) Produce low osmotic pressure
(D) Depletenutrients



34)

35)

bacteriais thermophillic aswell asthermoduric.

(A) Streptococcus
(B) Lactobacillus
(C) (A)and(B)

(D) None of the above

Hypercalcemiameans _ level of blood calcium
(A) Decrease

(B) Increase

(C) Constant

(D) None

36) Viruses cannot be cultivated in

(A) Tissueculture
(B) Bird embryos
(C) LiveMammals
(D) Blood agar

37) Which bacteriais responsible for gas gangrene

(A) C.tetani
(B) C. botulinum
(C) C. perfringens
(D) S.typhi
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38) The pasteurization conditions of milk are worked out based on destruction of

(A) Mycobacterium tuberculosis
(B) Clostridium botulium

(C) Samondlatyphimurium
(D) Staphylococcus aureus
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Candied fruit covered or coated with a thin transparent coating of sugar and
Impartsto it a glossy appearance is called :

(A) Glazedfruits
(B) Canned fruits
(C) Crystallizedfruits
(D) Candiedfruits

is a method of preservation in which food is packed in hermetically

sedled containers.

(A) Pasteurization
(B) Freezing

(C) Steilization
(D) Canning

A mature fruit of vegetable or its piecesimpregnated with heavy sugar syrup
till it becomes and transparent is known as a preserve.

(A) Smooth
(B) Soft
(C) Had
(D) Tender

Freeze drying is the preservation method whichisalsoknownas
(A) Lyophilisation

(B) Cryodesiccation

(C) Both(A) and (B)

(D) None of above
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43) _ isotopes used in radiation processing of food
(A) Co
(B) K
(C) Na
(D) He

44) Which of the following isused asarefrigerant?
(A) Hydrogen
(B) Carbon dioxide
(C) Hdium
(D) Arsenic

45)  processing is a non-thermal method of food preservation.
(A) Sterilization
(B) Blanching
(C) Pulsed ElectricField
(D) Canning

46) Pentose (Ribose) synthesis occurs from
(A) HMP pathway
(B) Glycogenesis
(C) Glycogenolysis
(D) Gluconeogenesis

47) Steam pedlingisused for .
(A) Potato
(B) Onion
(C) Orange
(D) Beans

-10-
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48) EVOH stands for
(A) Ethylated vinyl alcohol
(B) Ethylenevinyl alcohol
(C) Ethyl vinyl acohol
(D) Ethylidenevinyl acohol

49) Biologica valueof _ proteinismaximum.
(A) Meat
(B) Fish
(C) Egg
(D) Whesat

50)  helpinthetransport of lipidsin the body.
(A) Lipoproteins
(B) Glycoproteins
(C) Nucleoproteins
(D) None

51) The storage form of carbohydrate in animalsis .
(A) Glycogen
(B) Starch
(C) Both
(D) None

52) The most predominant buffer system in case of humansis_
(A) Carbonate buffer
(B) Phosphate buffer
(C) Protein
(D) Hemoglobin
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53) The pH of blood is .

(A) 7.0
(B) 7.4
(C) 80
(D) 6.0

54) Anabolismmeans
(A) Synthesis
(B) Decomposition
(C) Metabolism
(D) None

55) Benefits of omegafatsinthediet ssemtoinclude:
(A) Lowering blood cholesterol levels
(B) Producing anti-inflammatory compounds
(C) Contributing to the normal development of thefoetal brain
(D) All of these

56) PCR techniquewasinventedby .
(A) Cohn
(B) Boyer
(C) Sanger
(D) Karry Mullis

57) Lactic acid accumulatesin blood during .
(A) Aerobicglycolysis
(B) Sleep
(C) Anaerobicglycolysis
(D) HMP pathway

-12-



ENT -11
58) Making multiple copies of the desired DNA templateiscalled :

(A) cloning

(B) transferring

(C) r-DNA technology
(D) geneticengineering

59) Agarose extracted from seaweedsisusedin
(A) Spectrophotometry
(B) Tissueculture
(C) PCR
(D) Gel electrophoresis

60) Stirred-tank bioreactors have been designed for
(A) Purification of product
(B) Addition of preservatives to the product
(C) Availahility of oxygen throughout the process
(D) Ensures anaerobic conditionsin the culture vessels

61) The process of separation and purification of expressed protein before
marketing is called .

(A) Upstream processing

(B) Downstream processing
(C) Bio processing

(D) Postproduction processing

62) A genewhoseexpression helpstoidentify transformed cell isknownas .
(A) Selectable marker
(B) Vector
(C) Plasmid
(D) Structural gene

-13-
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63) Thefirst human hormone produced by recombinant DNA technologyis .
(A) Insulin
(B) Thyroxin
(C) Estrogen
(D) Progesterone

64) Coenzymes combine with
(A) Proenzymes
(B) Apoenzymes
(C) Holoenzymes
(D) Antienzymes

65) Which of the following technique is used to separate the proteins?
(A) Gel electrophoresis
(B) Soxhlet extraction
(C) Gerber’s method
(D) Lane & amp; Eynon’s method

66) Thefirst transgenic plantwas .
(A) Tobacco
(B) Pea
(C) Brind
(D) Cotton

67) Theenzyme required for synthesis of DNA from RNA
(A) RNA polymerase
(B) DNA polymerase
(C) Reversetranscriptase
(D) Transpolymerase

68) Diabetes that occursin the pregnancy periodis .
(A) JuvenileDiabetes
(B) Insulin Dependent Diabetes
(C) Gestational Diabetes
(D) Non-Insulin Dependent Diabetes

-14-
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____ havehigh acid content and low pH.
(A) Vegetable

(B) Fish

(C) Fruitjuice

(D) Mesat

Which of the following process involves conversion of sugar into acohol.
(A) Blanching

(B) Sterilization

(C) Fermentation

(D) Oxidation

Prolonging shelf lifeby usingirradiationisreferredas .
(A) Apertization
(B) Radurization
(C) Radicidation
(D) All of above

HACCP stands for .

(A) Hazard AnalysisCiritical Control Point
(B) Hazard Analytical Critical Common Point
(C) HazardousAnalysisCritical Control Point
(D) Hazard Analysis Control Critical Point

The full Form of MAPisknownas
(A) Modified Atmosphere Packet

(B) Modified Atomic Packaging

(C) Modified Atmosphere Packaging

(D) None of the above
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74) Thewater activity of fresh fruits and vegetables fallsin the range of :

(A) 0.97t00.99 (B) 0.85t00.90
(C) 0.75100.80 (D) 0.90t00.95

75) Sugar and salt are used in food productsto .
(A) Increaseshelf life
(B) Improvetaste
(C) Inhibit growth of microorganism
(D) All of above

76) PVA stands for
(A) Polyvinyl Alcohol (B) Post Vacreation Activity
(C) Potassium ValericAcid (D) None of the above

77) BMRisincreased in .
(A) Hypothyroidism (B) Hyperthyroidism
(C) Both (D) None

78) Conversion of non-carbohydrate substances into glucoseis
(A) Gluconeogenesis
(B) Glycogenesis
(C) Glycolysis
(D) Glycogenolysis

79) The RDA for iron for womenis
(A) 10mg/day
(B) 15mg/day
(C) 20 mg/day
(D) 25mg/day
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Isasparkling, sweetened fruit juice from which pul p and other insoluble

substances have been completely removed
(A) RTS (B) Squash
(C) Cordia (D) All of above

Ohmic heating referred as :
(A) Electroheating (B) Radiation heating
(C) Microwaveheating (D) Coldheating

82) The metabolic (endogenous) water is derived by the oxidation of

83)

(A) Carbohydrate (B) Protein
(C) Fats (D) All of them
bacterium is used in the production of insulin by genetic engineering.
(A) Saccharomyces (B) Rhizobium
(C) Escherichia (D) Mycobacterium

84) The first transgenic plant to be produced is :

85)

86)

(A) Brind
(B) Tobacco
(C) Rice
(D) Cotton

Freeze dried food contains percent of moisture.
(A) 810 (B) 10-15
(C) 1520 (D) 15

Limoneneis present in

(A) Orange (B) Mandarin
(C) Lime (D) Lemon
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87) Ready to serve beverage consist of fruit juice and total soluble
solids.
(A) 10%, 40 (B) 25%, 40
(C) 10%, 10 (D) 25%, 65
88) peeling method used for garlic and onion.
(A) Mechanical pedling (B) Lyepeding
(C) Hamepeding (D) None of the above
89) brix is the end point of jam.
(A) 68degree (B) 60degree
(C) 50degree (D) 55degree
90) Taste buds at the tip of the tongue are responsible for .
(A) astringency (B) sweset taste
(C) bitter taste (D) none of the above
91) Meat, fruit, vegetables are ?
(A) Simplefood (B) Complex food
(C) Functional food (D) Nutritivefood
92) Which one of the following isthickening agent ?
(A) Agar (B) Amylase
(C) Guar gum (D) Alltheabove

93) Which one of thefollowing isanon-climacteric fruit?

(A) Litchi (B) Mango
(C) Apple (D) Banana

94) Which of thefollowing isaripening hormone

(A) GA-3 (B) Auxin
(C) Cytokinin (D) Ethylene
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95) Chlorophyll ‘a and Chlorophyll ‘b’ occursin aratio of about :

(A) 125 (B) 1.05
(©) 150 (D) 1:10

96) Ergot disease is caused by .
(A) Puccinia (B) Rhizopus
(C) Claveceps (D) Penicillium

97) Certification Bodiesare
(A) First party auditing firms (B) Second party auditing firms
(C) Third party auditing firms (D) All of the above

98) FSSAI Regulation made mandatory step for every FBO during License or

Registration.
(A) SchedulelV Compliance (B) GLP
(C) PremiseVidt (D) Qualified person

99) AGMARK standards cover quality guidelinesfor how many Commodities?
(A) 210 (B) 226
(C) 224 (D) 222

100) Good agricultural practice as acollection of principlesto apply at
(A) On-farm production
(B) Post-production processes
(C) Production
(D) Om-farm production & Post-production processes

* ¥ *
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Rough Work
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